THR REOFENSCT BWERE (VI ~ 100 +HET)

\/Z DEX

V4 =2
J8=22
Vi12=243
*+/16 =4
V20 =245
V24 =246
V28 =247
* /32 =442
*/36 =6
V40 =2410
Va4 =211
* /48 =443
V52 =2413
V56 = 2414
V60 = 2415
* /64 =8
V68 = 2417
* /72 =642
V76 =2419
* /80 =44/5
V84 =221
V88 =222
V92 =24/23
* /96 =44/6
* /100 =10

ﬁ@ﬁ&

V9 =3
V18 =342
V27 =33
*+/36 =6
Va5 =35
V54 =36
J63 =37
* /72 =642
*+/81=9
V90 =3410
V99 =311

J16 DB

V16 =4

P32 =42
Va8 =443
* /64 =8
V80 =44/5
V96 = 446

V25 B

J25=5

V50 =542
V75 =543
* /100 =10
V125 =545
V150 =546
175 =547

36 DB

J36=6
V72 =642
V108 = 643

J49 »E

V49 =7
V98 =742
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